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Solve each system by graphing.
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TR

SbiBEbts rasery ad .'I'M pder wieh ol talite Algatsra 1.

ST S e R I
N T R LR
e s - i ] ST L
[ LY y s = 11 s i 5,
b v Faeil )
LR :{lﬂf’ .ﬂl_. i ’
"l =Ty .-;l'g:‘.' i ..I-.
C T et i L
3 "'I' -|I‘phl} i I._J'E: . =
Iy fen R el e 5




Shade ..l_'_O...@_.

Sketch the graph of each linear inequality. abo ve 7 = d ’ > :

Solve each system by substitution.
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Solve each system by elimination.
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10) Jaidee and Amanda each improved their yards by planting hostas and geraniums. They bought their supplies

o from the same store. Jaidee spent $63 on 7 hostas and 7 geraniums. Amanda spent $102 on 14 hostas and
10 geraniums. What 1s the cost of one hosta and the cost of one geranium?
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11) A rectangle has a length of x — 3 inches and a width of 6 inches. F(?r what values of x is the area of
the rectangle greater than the perimeter of the rectangle? Draw a diagram to help.
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12) A cyclist 45 miles in 4 hours. What is her speed in feet per second?
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14) A rectangle has side lengths of 12 inches and 9
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inches. Every dimension is multiplied by — to
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What 1s the scale factor? -

What is the ratio of the corresponding sides of
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Sketch the solution to each system of inequalities.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.
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Write the slope-intercept form of the equation of the line through the given point with the given
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Write the slope-intercept form of the equation of the line described.
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